B 4% F # 4 886-3-5773766
JH: 4% ) (i) 86-21-34970699

JPk 4% ) LT (5 91) 86-755-83298787
Http://www. 100y. com. tw

M12 Z%I/M12 SERIES 15%&8Y5B8/Part Number selection Guide

5—1%/Main Number-X

2k 1'1/4-6 outlet
/\

v
7

1.4-6il

M12483£ %7 2.6-811 %k 1'1/6-8 outlet

M12 assembled structure 3.8-10i1 £k I'1/8-100utlet

' M12FEZ 7)) 1.PG9*1.5

M12 panel mount 2.M16*1.5

M12i%sh 4 1. PVC/PVCZL M /PVC/PVC cable

M12 cable moulded 2. PUR/PVCZE ¥4 /PUR/PVC cable
3. PUR/PURZL ¥4/ PUR/PUR cable

& /See Drawing MI2BEEE
a3 | ek | si | sk [ 123
e welre | selre velreselre [ve
1 |Fe] 1 |®e] 1 (Eelt |ael 1 Re
JHHHHEH A H
4
1.3;{'.‘.;/3W3y 4 (mel 4 ﬁg 4 ng 4 lne
5 3 5 |® 5 |IBne
2. 4% /Away 0 ¢ |pel s [ne
-+ 7 |Ee| 7 |Ré
3. 5it8/5 way s |ue| s fxe
-+
4. 815/8 way 1 [
5. 12i&/12 way 12 U

M12 &%I/M12 SERIES $tFL#E%I/Pinhole array

A-code
® @
O O
® ® [©) & ©) ©)] O]
®
OJ ® st © s
@ @
o o
© @ ®(o o)O @(opo)@®
o) & o
© a ©® a3 ®  un
B-code
@ @ ® ®



Kuo
新建图章

Kuo
新建图章


M12 25 ik =R

MI2iE 2=, §f, EmARR, M8
M12 male panel mount connector,front fastened, solder

0 20/5%1 8am

D20/SW 18men
PGIMIE
M12X1

MI2iZE=rE, §, EWRR, FRE
M12 male panel mount connector,front fastened, with single wires

©20/5W18am
PG/ MG
Mi2X1

PGIMIE
M12X1

MI12iE =5, §, EWMSRR, 28
M12 male panel mount connector, front fastened, dip solder

& 18/5W1 7am

:
:
'E.
:
8,
max4s |
- m .
b
g
L
E.
g.
g
)

maxds

12

Jedesiion |
81211006

i = 2 T % 5
contacts gxing tregg ordering-number
3 PG9*1.5 1-12301-
M16%1.5 1-12301-2
4 PG9*1.5 2-12301-
M16*1.5 2-12301-2
5 PG9*1.5 =123
M16*1.5 3-12301-
8 PG9*1.5 4-12301-
M16*1.5 -12301-
12 PG9*1.5 -12301-
M16*1.5 5-12301-2
i W QM iT % b
contacts gxin treﬁ ordering-number
3 PG9*1.5 1-12303-
M161.5 1-12303-2
4 PG9*1.5 2-12303-
M16*1,5 2-12303-2
Q%1 5 17303-
5 APA L 3-1 3-]
8 PG9*1.5 4-12303-
L e
12 MI1671.5 5123032
EI a9 1T o =
contacts gxing treﬁ ordering-number
3 PG9*1.5 1- 5-
M16*1.5 1-12305-2
4 PG9*1.5 2-12305-
M16%1.5 2-12305-2
5 PGI™1. 3-12305-1
MI16°1.5 -12305-2
8 PGY* 4-12305-
M16°1.5 212305-2
PGI*1,5 5-12305-
12 M16*1.5 5-12305-2




M12 R 5E=

MI2EZrE, 7L, EWMRK, Wi
M12 female panel mount connector,front fastened,solder

.

IO 2R ] %5
I contacts &xing tregg ordering-number
] 3 PG9*1.5 1-12302-
o M16*1.5 1-12302-2
b 4 PG9*1.5 2-12302-
PO MI16*1.5 2-12302-2
5 PG9*1.5 3-12302-
M16*1.5 2302
8 PG9*1.5 4-12302
M16*1.5 -12302-
12 PG9*1.5 5-12302-
M16*1.5 5-12302-2
£
8.

L maxSS

MI2EZRE, 7l EWER, Faa
M12female, panel mount connector,front fastened, withsingle wires

200 ] 19.5

2- 113’
E 1 EIO ¢ R i7 4 <
= X g ’! contacts gxing tre;ﬁ ordering-number
4 I 2 3 PGI*1.5 1-12304-
® § M16°1.5 1-12304-2
s = & 4 PG971.5 3-12304-
’ v M16*1.5 -12304-
5 PG9*1.5 -12304-
M16*1.5 3-12304-2
8 PG9*1.5 4-12304-
M16*1.5 4-12304-2
T 12 PG9*1.5 5-12304-
— g M16*1.5 5-12304-2
.
ég =
LR
MI2ZiE2EE, 7L, EmRSE, 28
M12 female panel mount connector,front fastened,
EIE ¢ 2R i7 % 5
contacts &xing trea'ﬁ ordering-number
3 PG9*1.5 1-12306-
M16°1.5 1-12306-2
4 PG9*1.5 2-12306-
16*1.5 2-12306-2
5 PG9*1.5 -12306-
16°1.5 3-12306-
8 PG9*1.5 4-12306-
M16*1.5 -12306-2
12 PG9*1.5 2306-
M16*1.5 5-12306-2

o max55

304050101
§121.006



M12 Z 3% = B

MI2iEZRE, i, BREM, N8
M12male panel mount connector,back-mounted, solder

it @ R iJ % 5
1 o ] contacts #xi tregg ordering-number
B X E & 3 PGO*1.5 1-12307-
-_: 5 2 2 Mg, il I3 l1 23 ;774
PG9*1.5 2-12 -
. 4 MI16*1.5 2-12307-2
5 PG9*1.5 -12307-
M16*1.5 3-12307-2
8 PG9*1.5 4-12307-
PGos 15133074
12 M16°1.5 5-12307-2
e &
- § -
= :
El S |
max45 |
MI2EZRE, f, EREM, TRE
M12 male panel mount connector,back-mounted, withsingle wires
- m - m -
TR X
53 s 4
5 o 5 B & 5 T £ <
s = £ g contacts gxi tre ordering-number
.y i ® 3 PG9*1.5 1-12309-
. A M16*1.5 1-12309-2
4 PGI*1, 2-12309-
M161.5 2-12309-2
5 PGO*1. -12309-
16* 3-12309-2
.2 ; 8 PG9*1. 4-12309-
£ § M16*1.5 4-12309-
= = e = 12 PGY9*1.5 5-12309-
| & g > M16*1.5 5-12309-2
8, =N
max45 |
MI2EEZE, 7L, ER®ER, N8
M12 female panel mount connector,back-mounted, solder
22.5
i @ aAR 7 5% =
i . 5 S | BAaEH ordering-number
B 3 PG9*1.5 - -
g 2 2 3 M16°1.5 1-12308-2
S 2 2 PG9*1.5 2-12308-
M16°1.5 2-12308-2
5 PG9*1.5 -1230
M16*1.5 3-12308-2
8 PG9*1.5 4-12308-1
M16*1.5 4-12308-2
12 PG9*1.5 -12308-
: M16*1.5 5-12308-2

M
DIVEW 17w

| manas



M12 Z 3L =

MI2IEZR, 7L, BRES, TR
M12 female panel mount connector,back-mounted, with single wires

200 19.5

- » >

- -
! T3 % gRE T, K B
o -~
é = X B contacts gxing tread ordering-number
2z s s 3 PGO1.5 1-12310-
8 $.% M1671.5 1-12310-2
/ n = v a PG9*1.5 2-12310-
M16°1.5 2-12310-2
5 PG9*1,5 2310-1
200 195 M16*1.5 - 0-2
3. 2 8 PG9*1.5 4- 0-
TR 15310
12 M16°1.5 5-12310-2

Mi12X1
D18/SW 17mm

_G20/SW 18mm _
_PGIMIE

_ max4Ss

M12 2 FUEZER A S

12 Number of contacts
0 Connector locking system
mda solder, solder,single wire Termination
SRR gxaswﬁlu—Lmasm IEE_ om%sﬁﬁlmx 0.25mm2 Wire guage
LETTE Cableoutlet
i 1P68 Degree goprotection
VA >100mmaungcyds Mechanical operation
IfEBE | (40" -85 ) temperature range
250V [osov) 125V [60V__ [30V Rated voltage
2500V 2500V 1500V |800V  |S00V Rated impulse voltage
SRER 3 Pollution degree
TR G R Il Overvoltage categorie
RS 1l Material group
BoerR @0 ) 4A 2A [1A Rated current(40° )
ERRE <=10mQ(&/gold) Contactresistance
AT rass Material of contact
[ REEEN g%d Contact plating
TREERL Material of contact body
[y m'_ﬁ,l_wiﬂ'&mlg(;%m;mmwel plated Material of housing
i A AB;D AB coding key




